dtEEEHTVT7EE] gremz
DUTNTSUDERSE

20255 9A%y MHEEBEERBREMOFHMSE MRS LRIST—

TR OSBEREBY . EHEALRLETET,
B OBSHRITEETNAMHRSHREME, TROBYSMSLLET,

KT, B XIBICRAHIESIE (BEEDEFSEIIHIA24M/kWh) Z AN B ERBEM M5
E5I1ET 5D TEEL AMEBICTESIZZTHE TLVZEET,

ouji
cu

RHEFHBEM=DRNERABEM+QBEL=/\—Y LY —EXRB T+ Q)EE H iR BB

+@OBRERHEHIBEE = FiA 5.15|F:l/kWh
(1) AR B SR 2 B i = (P9 RHlAE — o) x REEBffi+~1,000 = 0.00]F/kWh
202554 H ~2025%6 A FHDE S EHEE
A: 1KIBHT=Y DR im il 68,774 M a: 0.0000 HAEE(H 0.000 M
B: 1t#H1=Y®DEHLNGIHE 86,945 M B : 0.0000
C: 1tHI=YDEHR RME 17,505 M Y 0.0000
TEHyEE = Axa +BXxB8 +Cxy =0H (100K FMIERAN)
(2) BB A= /N—H LY —E XA EM= (B & TR EHEE —0M) x BE#Ei{fi—1,000 = 0.00]F/kWh
2025548 ~2025%6 A FHDE S EHEE
A: 1KIBHT=Y DR Ml 68,774 M a: 0.0000 B 0.000 M
B: 1t#H1=Y®DEHLNGIE 86,945 M B : 0.0000
C: 1tHhi=YDEHR R 17,505 M Y 0.0000
BETMREMER=AXa +BxB8 +Cxyr=0H (100K FMIERAN)
Q) HENFBEM=A<BDHEE. HENFABEMH=(A—B)XDx(1+HEHREK) = 0.00JF4/kWh
A>CHIGE . NENFABEM=(A—C)XDX(1+HEHRE) = 4.05)F/kWh
A: BTADIVT7ISAREHE-(1-BKR) x SRBE 16.18 BADIYTTSAAEHIE 13.55
B: ZJCIfEEEAEBIE (Fiik) 8.50 |RER 7.9%
C: BANEREEEZE B ff (Fiik) 12.50 RER 110%
D: MEIE 100%
4) FENHEEIBE 1.10|H/kWh

Lk



RIABHTUZEE] gremz
DUTNTSUDERSE

20255 9A%y MHEEBEERBREMOFHMSE MRS LRIST—

TR OSBEREBY . EHEALRLETET,
B OBSHRITEETNAMHRSHREME, TROBYSMSLLET,

KT, B XIBICRAHIESIE (BEEDEFSEIIHIA24M/kWh) Z AN B ERBEM M5
E5I1ET 5D TEEL AMEBICTESIZZTHE TLVZEET,

ouji
cu

RHEFHBEM=DRNERABEM+QBEL=/\—Y LY —EXRB T+ Q)EE H iR BB

+@OBRERHEHIBEE = FiA 9.05 |F:l/kWh
(1) AR B SR 2 B i = (P9 RHlAE — o) x REEBffi+~1,000 = 0.00]F/kWh
202554 H ~2025%6 A FHDE S EHEE
A: 1KIBHT=Y DR im il 68,774 M a: 0.0000 HAEE(H 0.000 M
B: 1t#H1=Y®DEHLNGIHE 86,945 M B : 0.0000
C: 1tHI=YDEHR RME 17,505 M Y 0.0000
TEHyEE = Axa +BXxB8 +Cxy =0H (100K FMIERAN)
(2) BB A= /N—H LY —E XA EM= (B & TR EHEE —0M) x BE#Ei{fi—1,000 = 0.00]F/kWh
2025548 ~2025%6 A FHDE S EHEE
A: 1KIBHT=Y DR Ml 68,774 M a: 0.0000 B 0.000 M
B: 1t#H1=Y®DEHLNGIE 86,945 M B : 0.0000
C: 1tHhi=YDEHR R 17,505 M Y 0.0000
BETMREMER=AXa +BxB8 +Cxyr=0H (100K FMIERAN)
Q) HENFBEM=A<BDHEE. HENFABEMH=(A—B)XDx(1+HEHREK) = 0.00JF4/kWh
A>CHIGE . NENFABEM=(A—C)XDX(1+HEHRE) = 7.95|F/kWh
A: BTADIVTTSARAEHE-(1-48KE) < ARE 15.23 BADIYTTSAAEHIE 12.67
B: ZJCIfEEEAEBIE (Fiik) 4.00 |RER 8.5%
C: BANEREEEZE B ff (Fiik) 8.00 RER 110%
D: MEIE 100%
4) FENHEEIBE 1.10|H/kWh

Lk



i:‘#‘:%j]IUTUEJ:T:] }:Zl’..‘l!'.f
UTNTSODEESE
2025% 9RA%LS MPEEFFRBEMOIFHMSHE HREHTY LRSI —

TR OSBEREBY . EHEALRLETET,
B OBSHRITEETNAMHRSHREME, TROBYSMSLLET,

KT, B XIBICRAHIESIE (BEEDEFSEIIHIA24M/kWh) Z AN B ERBEM M5
E5I1ET 5D TEEL AMEBICTESIZZTHE TLVZEET,

ouji
cu

RHEFHBEM=DRNERABEM+QBEL=/\—Y LY —EXRB T+ Q)EE H iR BB

+@OBRERHEHIBEE = FiA 7.27|F:l/kWh
(1) AR B SR 2 B i = (P9 RHlAE — o) x REEBffi+~1,000 = 0.00]F/kWh
202554 H ~2025%6 A FHDE S EHEE
A: 1KIBHT=Y DR im il 68,774 M a: 0.0000 HAEE(H 0.000 M
B: 1t#H1=Y®DEHLNGIHE 86,945 M B : 0.0000
C: 1tHI=YDEHR RME 17,505 M Y 0.0000
TEHyEE = Axa +BXxB8 +Cxy =0H (100K FMIERAN)
(2) BB A= /N—H LY —E XA EM= (B & TR EHEE —0M) x BE#Ei{fi—1,000 = 0.00]F/kWh
2025548 ~2025%6 A FHDE S EHEE
A: 1KIBHT=Y DR Ml 68,774 M a: 0.0000 B 0.000 M
B: 1t#H1=Y®DEHLNGIE 86,945 M B : 0.0000
C: 1tHhi=YDEHR R 17,505 M Y 0.0000
BETMREMER=AXa +BxB8 +Cxyr=0H (100K FMIERAN)
Q) HENFBEM=A<BDHEE. HENFABEMH=(A—B)XDx(1+HEHREK) = 0.00JF4/kWh
A>CHIGE . NENFABEM=(A—C)XDX(1+HEHRE) = 6.17]F/kWh
A: BTADIVTTSARAEHE-(1-48KE) < ARE 15.61 BADIYTTSAAEHIE 13.21
B: ZJCIfEEEAEBIE (Fiik) 6.00 |RER 6.9%
C: BANEREEEZE B ff (Fiik) 10.00 RER 110%
D: MEIE 100%
4) FENHEEIBE 1.10|H/kWh

Lk



hEEHTYTEE]
SUTNTSLOEESE

20255 9A%y MHEEBEERBREMOFHMSE MRS LRIST—

TR OSBEREBY . EHEALRLETET,
B OBSHRITEETNAMHRSHREME, TROBYSMSLLET,

KT, B XIBICRAHIESIE (BEEDEFSEIIHIA24M/kWh) Z AN B ERBEM M5
E5I1ET 5D TEEL AMEBICTESIZZTHE TLVZEET,

ouji
cu

RHEFHBEM=DRNERABEM+QBEL=/\—Y LY —EXRB T+ Q)EE H iR BB

+@OBRERHEHIBEE = FiA 7.62 |F:l/kWh
(1) AR B SR 2 B i = (P9 RHlAE — o) x REEBffi+~1,000 = 0.00]F/kWh
202554 H ~2025%6 A FHDE S EHEE
A: 1KIBHT=Y DR im il 68,774 M a: 0.0000 HAEE(H 0.000 M
B: 1t#H1=Y®DEHLNGIHE 86,945 M B : 0.0000
C: 1tHI=YDEHR RME 17,505 M Y 0.0000
TEHyEE = Axa +BXxB8 +Cxy =0H (100K FMIERAN)
(2) BB A= /N—H LY —E XA EM= (B & TR EHEE —0M) x BE#Ei{fi—1,000 = 0.00]F/kWh
2025548 ~2025%6 A FHDE S EHEE
A: 1KIBHT=Y DR Ml 68,774 M a: 0.0000 B 0.000 M
B: 1t#H1=Y®DEHLNGIE 86,945 M B : 0.0000
C: 1tHhi=YDEHR R 17,505 M Y 0.0000
BETMREMER=AXa +BxB8 +Cxyr=0H (100K FMIERAN)
Q) HENFBEM=A<BDHEE. HENFABEMH=(A—B)XDx(1+HEHREK) = 0.00JF4/kWh
A>CHIGE . NENFABEM=(A—C)XDX(1+HEHRE) = 6.52| M /kWh
A: BTADIVTTSARAEHE-(1-48KE) < ARE 14.93 BADIYTTSAAEHIE 12.61
B: EICEREEAEER (Fitk) 5.00 |RER 7.1%
C: BANEREEEZE B ff (Fiik) 9.00 RER 110%
D: MEIE 100%
4) FENHEEIBE 1.10|H/kWh

Lk



EEEHTUTUEE] gremz
UTNTSODEESE
2025% 9RA%LS MPEEFFRBEMOIFHMSHE HREHTY LRSI —

TR OSBEREBY . EHEALRLETET,
B OBSHRITEETNAMHRSHREME, TROBYSMSLLET,

KT, B XIBICRAHIESIE (BEEDEFSEIIHIA24M/kWh) Z AN B ERBEM M5
E5I1ET 5D TEEL AMEBICTESIZZTHE TLVZEET,

ouji
cu

RHEFHBEM=DRNERABEM+QBEL=/\—Y LY —EXRB T+ Q)EE H iR BB

+@OBRERHEHIBEE = FiA 8.37|F:J/kWh
(1) AR B SR 2 B i = (P9 RHlAE — o) x REEBffi+~1,000 = 0.00]F/kWh
202554 H ~2025%6 A FHDE S EHEE
A: 1KIBHT=Y DR im il 68,774 M a: 0.0000 HAEE(H 0.000 M
B: 1t#H1=Y®DEHLNGIHE 86,945 M B : 0.0000
C: 1tHI=YDEHR RME 17,505 M Y 0.0000
TEHyEE = Axa +BXxB8 +Cxy =0H (100K FMIERAN)
(2) BB A= /N—H LY —E XA EM= (B & TR EHEE —0M) x BE#Ei{fi—1,000 = 0.00]F/kWh
2025548 ~2025%6 A FHDE S EHEE
A: 1KIBHT=Y DR Ml 68,774 M a: 0.0000 B 0.000 M
B: 1t#H1=Y®DEHLNGIE 86,945 M B : 0.0000
C: 1tHhi=YDEHR R 17,505 M Y 0.0000
BETMREMER=AXa +BxB8 +Cxyr=0H (100K FMIERAN)
Q) HENFBEM=A<BDHEE. HENFABEMH=(A—B)XDx(1+HEHREK) = 0.00JF4/kWh
A>CHIGE . NENFABEM=(A—C)XDX(1+HEHRE) = 7.27|F/kWh
A: BTADIVTTSARAEHE-(1-48KE) < ARE 13.61 BADIYTTSAAEHIE 11.41
B: ZJCIfEEEAEBIE (Fiik) 3.00 |RER 7.8%
C: BANEREEEZE B ff (Fiik) 7.00 RER 110%
D: MEIE 100%
4) FENHEEIBE 1.10|H/kWh

Lk



EAagEhT)7EE] gremz
SUTNTSUDEESE
20254 9H% WMEEEFHREBEMOBIHLE BRI LRINT—

TRILEAOSBEREBY . EHEALALETET,
BHOBRHSCEFNIMHBSHEREE, TROBYSMSELET,

KA, B XERICLBIESIE (EEDHFIFIIFHIA2.4M/kWh) A8 & FRE B, S
[E5IET 2D TIEILL HEBICTESIZZTHETWEEET,

anj
cu

M BEERBEE=)RNEAREE+QBE L=/ —Y /LY —ERRBEM+QHNE HRBEM

+NBRERHEHIBE= BN 15kWhET Fi A 117.30 2]
LREst BaA 7.82 F1/kWh
(1) A B R R B i = (F O ARHE4E —0M) x B#EH {1,000 = BHID15kWhET 0.00|M
2025548 ~2025%E6 B FH D E S#EHE LEELS 0.00|F4/kWh
A: 1kIHT=Y DT HEREE 68,774 M a: 0.0000
B: 1tH =Y DTHLNGIEE 86,945 M B: 0.0000 ~ 15kWhEE #£ B {f 0.000 M
C: tH-YDFEHARMEE 17,505 A Y 0.0000 16kWh~ £E % BA {ff 0.000 M
TR EMERR = Axa +BxB +Cxy =0H (100 RFEM@BAAN)
(2) BB A= /\—Y LY —E ARl = (3 & F R FHMEE —0M) x BB 1,000 = 0.00|F4/kWh
202554 H ~2025%6 A FH D B 5 sHmE
A: KIS T=Y O 5 [E e 68,774 M a: 0.0000 HAEHR 0.000 M
B: 1tdHh1=UDEHLNGHE 86,945 M B: 0.0000
C: 1tH=YDEHRXME 17,505 M 7 0.0000
EHETHBE@fKR=AXxao +BxB8 +Cxryr=0H (100MRFEMEER A)
Q) HEHFEEM=A<BDIGFE. HENFAEEM=(A—B)XxDx(1+HEHRE) = 0.00|F4/kWh
A>COHE . HENRBEM=(A—C)XxDx(1+HHBHE) = 6.72|F1/kWh
A: BITADIVTISAREHE-(1-BLE) < HRE 13.61 BADIUTISAREHE 11.41
B: EJCIAEEEAEEM (Fitk) 3.50 JRE 7.8%
C: EBmmEAEEALERM (k) 7.50 SRER 110%
D: BEZE 100%
@) REflEeBa1BEE 1.10]F4/kWh

LE



FEEATITEE] gremz
DUTNTZODEESE

20254 9H% WMEEEFHREBEMOBIHLE BRI LRINT—

TRILEAOSBEREBY . EHEALALETET,
BHOBRHSCEFNIMHBSHEREE, TROBYSMSELET,

KA, B XERICLBIESIE (EEDHFIFIIFHIA2.4M/kWh) A8 & FRE B, S
[E5IET 2D TIEILL HEBICTESIZZTHETWEEET,

anj
cu

M BEERBEE=)RNEAREE+QBE L=/ —Y /LY —ERRBEM+QHNE HRBEM

+NBRERHEHIBE= BN 15kWhET Fi A 106.35 2]
LREst BaA 7.09 F1/kWh
(1) A B R R B i = (F O ARHE4E —0M) x B#EH {1,000 = BHID15kWhET 0.00|M
2025548 ~2025%E6 B FH D E S#EHE LEELS 0.00|F4/kWh
A: 1kIHT=Y DT HEREE 68,774 M a: 0.0000
B: 1tH =Y DTHLNGIEE 86,945 M B: 0.0000 ~ 15kWhEE #£ B {f 0.000 M
C: tH-YDFEHARMEE 17,505 A Y 0.0000 16kWh~ £E % BA {ff 0.000 M
TR EMERR = Axa +BxB +Cxy =0H (100 RFEM@BAAN)
(2) BB A= /\—Y LY —E ARl = (3 & F R FHMEE —0M) x BB 1,000 = 0.00|F4/kWh
202554 H ~2025%6 A FH D B 5 sHmE
A: KIS T=Y O 5 [E e 68,774 M a: 0.0000 HAEHR 0.000 M
B: 1tdHh1=UDEHLNGHE 86,945 M B: 0.0000
C: 1tH=YDEHRXME 17,505 M 7 0.0000
EHETHBE@fKR=AXxao +BxB8 +Cxryr=0H (100MRFEMEER A)
Q) HEHFEEM=A<BDIGFE. HENFAEEM=(A—B)XxDx(1+HEHRE) = 0.00|F4/kWh
A>COHE . HENRBEM=(A—C)XxDx(1+HHBHE) = 5.99|F1/kWh
A: BITADIVTISAREHE-(1-BLE) < HRE 12.44 BADIUTISAREHE 10.44
B: EJCIAEEEAEEM (Fitk) 3.00 JRE 7.7%
C: EBmmEAEEALERM (k) 7.00 SRER 110%
D: BEZE 100%
@) REflEeBa1BEE 1.10]F4/kWh

LE



mEEAIV7ZERE] gremz
SUTNTSUDEESE
20254 9H% WMEEEFHREBEMOBIHLE BRI LRINT—

TRILEAOSBEREBY . EHEALALETET,
BHOBRHSCEFNIMHBSHEREE, TROBYSMSELET,

KA, B XERICLBIESIE (EEDHFIFIIFHIA2.4M/kWh) A8 & FRE B, S
[E5IET 2D TIEILL HEBICTESIZZTHETWEEET,

anj
cu

M BEERBEE=)RNEAREE+QBE L=/ —Y /LY —ERRBEM+QHNE HRBEM

+NBRERHEHIBE= B D 15kWhET A 41.25 M
LREst BaA 3.75 F1/kWh
(1) A B R R B i = (F O ARHE4E —0M) x B#EH {1,000 = BHID1KWhET 0.00|M
2025548 ~2025%E6 B FH D E S#EHE LEELS 0.00|F4/kWh
A: 1kIHT=Y DT HEREE 68,774 M a: 0.0000
B: 1tH =Y DTHLNGIEE 86,945 M B: 0.0000 ~ 1 1kWhE 2 B {f 0.000 M
C: tH-YDFEHARMEE 17,505 A Y 0.0000 12kWh~ £E #£ BA {ff 0.000 M
TR EMERR = Axa +BxB +Cxy =0H (100 RFEM@BAAN)
(2) BB A= /\—Y LY —E ARl = (3 & F R FHMEE —0M) x BB 1,000 = 0.00|F4/kWh
202554 H ~2025%6 A FH D B 5 sHmE
A: KIS T=Y O 5 [E e 68,774 M a: 0.0000 HAEHR 0.000 M
B: 1tdHh1=UDEHLNGHE 86,945 M B: 0.0000
C: 1tH=YDEHRXME 17,505 M 7 0.0000
EHETHBE@fKR=AXxao +BxB8 +Cxryr=0H (100MRFEMEER A)
Q) HEHFEEM=A<BDIGFE. HENFAEEM=(A—B)XxDx(1+HEHRE) = 0.00|F4/kWh
A>COHE . HENRBEM=(A—C)XxDx(1+HHBHE) = 2.65|F/kWh
A: BIADIUTTSARAEHE-(1-18KE) x R 10.41 BADIUTISAREHE 8.70
B: EJCIAEEEAEEM (Fitk) 4.00 JRE 8.1%
C: EBmmEAEEALERM (k) 8.00 SRER 110%
D: BEZE 100%
@) REflEeBa1BEE 1.10]F4/kWh

LE



AMEATYTUEE] gremz
DUTNTSUDERSE

20255 9A%y MHEEBEERBREMOFHMSE MRS LRIST—

TR OSBEREBY . EHEALRLETET,
B OBSHRITEETNAMHRSHREME, TROBYSMSLLET,

KT, B XIBICRAHIESIE (BEEDEFSEIIHIA24M/kWh) Z AN B ERBEM M5
E5I1ET 5D TEEL AMEBICTESIZZTHE TLVZEET,

ouji
cu

RHEFHBEM=DRNERABEM+QBEL=/\—Y LY —EXRB T+ Q)EE H iR BB

+@OBRERHEHIBEE = FiA 6.04 |F:l/kWh
(1) AR B SR 2 B i = (P9 RHlAE — o) x REEBffi+~1,000 = 0.00]F/kWh
202554 H ~2025%6 A FHDE S EHEE
A: 1KIBHT=Y DR im il 68,774 M a: 0.0000 HAEE(H 0.000 M
B: 1t#H1=Y®DEHLNGIHE 86,945 M B : 0.0000
C: 1tHI=YDEHR RME 17,505 M Y 0.0000
TEHyEE = Axa +BXxB8 +Cxy =0H (100K FMIERAN)
(2) BB A= /N—H LY —E XA EM= (B & TR EHEE —0M) x BE#Ei{fi—1,000 = 0.00]F/kWh
2025548 ~2025%6 A FHDE S EHEE
A: 1KIBHT=Y DR Ml 68,774 M a: 0.0000 B 0.000 M
B: 1t#H1=Y®DEHLNGIE 86,945 M B : 0.0000
C: 1tHhi=YDEHR R 17,505 M Y 0.0000
BETMREMER=AXa +BxB8 +Cxyr=0H (100K FMIERAN)
Q) HENFBEM=A<BDHEE. HENFABEMH=(A—B)XDx(1+HEHREK) = 0.00JF4/kWh
A>CHIGE . NENFABEM=(A—C)XDX(1+HEHRE) = 4.94]F/kWh
A: BTADIVTTSARAEHE-(1-48KE) < ARE 12.49 BADIYTTSAAEHIE 10.38
B: ZJCIfEEEAEBIE (Fiik) 4.00 |RER 8.6%
C: BANEREEEZE B ff (Fiik) 8.00 RER 110%
D: MEIE 100%
4) FENHEEIBE 1.10|H/kWh

Lk



